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."Lesson 10 Scatter Plots

Dy

A scatter plot is a way to represent dam ona coordinate plane.
Each point represents one pair of data. The scatter plot may be
used to_makc a 00!1_011151011 about the data sets. :

The manager of an outdoor swimming pool recorded data at
o " 2:00 p.m. each day for two weeks in July. He was interested in
the relationship between the temperature and the number of
‘swirnmers. Use a scatter plot to display the data, Then make a

conclusion about the data. -
| Temperature | Number of
(°F) | Swimmers
75 S 66
S T8 L8
80 "84
85 . a3
85 89
72 .63
68 64
70 S 70 - -
79 65 «
84 -
. 88 . 100
R - o7
- 92 103
90 .91

- -P.‘-'act'iee'- First Try: .
Uso the scatter plot at the rlght

1. The data show a negative relauonshxp _
between the number of tissues in a' box and "
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.60 . 70 ‘
& Temperature {°F)

*80 80 . 100

" The data show a pos:twe re!auonsmp betwecn
- the temperature and the number of swimmers.

As the temperature increases, the number of -
smmers increases. -

2. Asthe number of’ tlssucs ina box mcreases, oy

“ .. the priceper-tissue—

3. Based on this data, how can you save mouey
~ when buymg tlssucs? ,

Price per tlasue (cents)
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Name : _  Date

Pracfice: Second Try

1. The table gives Anna’s hours worked and money earned babysitt—ing._
~ “Use a scatter plot to display the data. Then tell whether the data show a
positive velationship, a negative relationship, o1 no relationship.

g Hours Money
Worked | Earned (8)
3 v 16 )
* .8 ool 24
=25 12
2 10
4 18
45 22
3.5 S 18
3 14
' 28
s 215 8
i
4 20
6 25 =
2.5 10 g R B I Y. S relationship
Extend Your Skills

" Tell whether you think the data described would show a positive
relationship, a negative relationship, or no r@s!ationship. s By

2. The longth and weight of asnake
3 ‘ The shoe size of 4 student and thé student's test Is‘oo"re' :

. _I ‘4. Theage of a child and the pumber bf.yqérs'before-_thé. chilfi’s high school -
graduation. 20, G IE ama & My
" Puzzle

- Use 5 letters from scatter plotto

name a characteristic of a line.
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mAlgebra Concepts | Da\[ ?..

Lesson 4: Perfect Squares and Square Roots

;__g

A perfect. square is the square of an mtcge.r Thc square root
of a perfect square is an integer. The table-shows how some
perfect squares and square roots are related.
: ¢ T :
2 | ol 4. |5

Perfeot's_qnares =2X2 =3X3° "-_—4'x4 .—SXS |

SquareRoots | VE=2 | Vo=3 | ViE=4 | V25 =5

m Fmd thctwo square foots of 9. |
The rinmber 9hasa positive squam 100t and:a ncgatlve square root =

Fmd a positive number you can square to gct 9.
P=3X3=9 _

~Finda ncgatwc pumber you can squa:e to get 9.
(-3 =(=3) X (=3) =9

~.So, the two square roots of 9 aré 3 and —3.
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" Evaluate ViZ4 . = R -
' ‘<7 The symbol\/—xscal]edaradlcal sign. Itlsusedtorepresent
* the posxtme square Toot:

Fmd a posmvc number you. can square to get 144
Cip=12X% 12 = 144 |
e -Smce 12* = 14'4;_V' 144 =12

a TELTEE T

Praotloe- Flrst Try

S g ety

Tell whethor the numbor isa psrfoot squaro or not Write yes or no.
. 36 . 2 48 L3S0 A 64

Gopyight ® by McDouga Littel,  diviion of Houghtn Miffin Company,
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Name _.. - - %

9. Fin_
e

12. ‘Which

®i
® 1_4 

13. Findth -

1.
] 7 ton =

Remediation-

re Roots

@
®86|_“.

b P _samdunca

Name:_

o) _-Practlce. Second Try -

.4 - - 264

_Evaluate the square root.

‘5, 196 6. 900"

9. V25 ‘10, V8l

Extend Your sidlts

13, V36 - 14. VO

C 1. V400 . 18. V121

. Find the two square roots of the number

' Batween whlch two consecutwe integers doeﬁ

3. 100 -

7. 3600

11. V49

15. Vida

19. V225

'23., V3

& 25 Complete the table What type of numbers are the areas? -

- Date

'12.\f1—6_l

a. 169 -

16. VI

625

20. 110,000

the square voof lie. Explaln
' - 24. Y40

Puzzle

' - 1 im. 2in. 3in.. 4 in. Sin.
| side Length (in): |
| Area '(in.’) ’
Which number does not belong? 36 124 9 225 16° 49 1 4

Explain,
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) WP'olynomials and Rational

Expressions

Lesson 1: Properties of Exponents

B EXAIPLE 1

B EXAVMPLE 2

A répeated multiplication can be represented by a power. Here are

the properties to simplify expressxons with powers. ,

Property

Product of Powers: To multiply powers havmg the same |

base, add the exponents.

" Pewer of a Power: To find a power of a power, multiply

exponents

Power of a Product To finda power of a product find the
power of each factor and multiply.

Quotlent of Powers To divide powrers havmg the same
nongzero base, subtract the exponent of the denomnator
from the exponént: of the numerator, _

= 19,683 Evaluate the exponent:

Algebra
aca=ag"a¥0

(@a"y =a™
(ab)¥=aw«b-'

am— —n
7;.-—1:"' a=#0

Power of a Quouent To find the power of a quonent, (E)"’ =a b q& 0
find the power df the numerator and the power of the ¥ bl o
denominator, then divide. . ol
Use the ja‘mpeﬁies to simplify. _
a.(- 5P+ (=5) = (- S)d = (— 5)ﬁ =15625 . Product of Powers
b.(@)P=xT=x : . "Power of a Power
L L 1.1 1 -
6. ~(2) P =~y (@)= 0 5= 5 Power of a Product
d. -3-:- =42=4 =064 ‘ A - Quotient of Powers
xy¢_x_ 2 T | e
e. (5) =5 =% Power of a Quotient
Simplify the expression.
(323 ) (3;) Product of Po;vvers
= (3471p Quotient of Powers
= (3% Subtract exponents.
=3 . Power of a Power

Remediation Book Lesson 8.1
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Name : : _ ——  Date
Practice
Simplify. _ _
1. 55 2. (A 3. 2
zy . oo (3 ‘ : 70 B
4. (3) S Gy B ('»F) |
TP e (—8(=8¥(=B) 9. ()
10. (g)’(g)’ ML [(—ayy 12. (=35 -3
o B3 ! 1
18. BET _ 14, W + EEI)F _ jﬁ_ C3Hays

Extend Your Skills _ ; : * i
16. Fill in the blanks with properties to explain the steps-used to simplify the
following expression. : ‘ . .

. » o | ] .

=[= “-.'(ﬁ '
=E-E o
=@ )
=xlex? o)
=t o
' Pulzzlé‘ _ _
What is a kitten after it is 7 months old?-
Hint: ' _
The same number is rmissing from each of W i 14 0 \0J
the boxes. What is the missing number? (—w—,) -( w ,) = (—1""—,) ,
; : . wewy wew'/ - lwew
' w0 0
' (WD']
]
= )
= yié

' The kitten is !

@)
=
S
-
(@

[
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Algebra Com:epts

Lesson 3: Zero and Negatlve Exponents

Letabea nonzero number, and 7 be an integer.

Dc_xy ‘—[

 Words | Algebra Example
a to the zero power is 1. =1,a%0 5=l
ais the reciprocal of a”.  |@™ = %, a+0 2 ,.=%
i the reciprocal of a™. | a" = 5@ # 0 2=k

Evaluate the expressmn

( ) —11— Definition of negative exponcnt
(3 FUT A |
i
=125 Divide
_ Evaiuatc the expressmn whenx =3.
o a_ t 2_’ £

Dcﬁmtlon of zero exponcnt
Deﬁmtlon of negatrvc exponent

N
>
B
n
0
b
>
R
3

an!‘lgﬁam pug 013z ‘g

=2
I
-
)
m
w
X
h -3
0
)
=
9
m
e
-~
7]

" Copyright © by McDougal Littell, a division of Houghton Miffin Campany: -

Subst:tutex =3 mto each expression.

b 1 _ 1 *,_“ _'_'1_1‘ T (L
b x‘“_f“"?-—al by TT=2Rm5 =g e- (&) - (3] -1
1. I :
Practlce' Flrst Try

Eva}uate the expresslon o _ :
AT A 10
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'13. Find{
R
‘z‘ton .

@ 1
. ®."8 .

Rbmediatic

5k Remed

' Name -' il : - Date
| Pra#tice:isecond' Try

-Evaluate the 'e‘xpres_sion.

E e (%)__3 ia Sy,
e el ey
9. .(*‘8)3_ _: 10. 200° , | 11; —o-s

Evaluate the expression when x = 2:
: = : e
e ” 18, (;)
‘Extend Your Skills ‘ : :
7. A halflife is the amount of time that it takes for a radioactive substance to

decay to one half of its original quantity. Suppose radioactive decay causes

320 X 2"“ to: determine how many grams of the substance are left.

( : 8. Atoms are very smalL An-atom of gold has a radms of apprommatcly

b radlus of a gold atom‘? Write your answer as a decimal.

Puzzle

CEY

(J I
I
1

B -

Ui

—_—
B2 S

’ » v

L —
| Bl

186 Reﬁiadiaﬁ_ou Book Lesson 6.3

" 320.grams of a substance to decrease 320 X 2-* after 4 half-lives. Evaluate

0.1441 nanometers. A nanometer is 10~° meter. What part of a meter is the :

Shade each square that has a value that is greater than 1 W"hat letter da you see? .
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Algebra Concepts DO\Y <

Lesson 6: Scientific Notation

Scientific notation is a way to write very small or very large numbers using
powers of 10. The table shows some powers of 10.

Power of 10| 107 1072 10° 10° 10} 102 | 10
Value 0.001 0.01 0.1 | 10 100 | 1000

A AT e S R
LT Sl e Bt i

Write 9, 100,060 in scientific notation.
9‘100_,009, Move the decimal _point

6 places to the left.
9.1 X 105 Use 6 as an exponent of 10.

[EIICE]  Write 0.0000005 in scientific notation.

0.0000005, Move the decimal point
7 places to the right.

5% 107  Use —7 as an exponent of 10.

[ETULNE]  Write 2.3 X 10*in standard form.

23\,0@, The exponent of 10 is 4.
Move the decimal point 4 places to the right.

Write 8 X 10 in standard form.
000008  The exponent of 10 is —5.
Move the decimal point 5 places to the left.

Practice: First Try

Write the power of 10 that makes a true statement.
1. 8,000,000 =8 X 2. 450,000 = 4.5 X

3. 0.00006 = 6 X 4. 0.000000077 = 7.7 X

5. 380,000,000 = 3.8 X 6. 0.00092 =9.2 X

Remediation Book Lessan 6.6
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Practice: Second Try

Write the number in scientific notation.

1. 87,000,000 2. 5,000,000,000 3
4. 926,000 5. 0.0000015 6.
7. 0.0009 } 8. 0.000000398 9,

Write the number in standard form.

10. 59 X 10¢ 11. 4.58 X 10¢ o2
13 axlet ‘14. 7.5 X10°* 15.
16. 182 xuﬁ RE 17. 3% 10°° 8.
Extenid Your Skills

§ Give s complete answer.
~ 19. In the year 2005, a company made a profit of about $3.8 X 105, In 2006, the

company made about $40,000. In which year did the company make a greater
profit? Explain. - S

420,000

0.0000008

0.0000031

9.0 X 102

" 82X 1076

55x107

20. The size of Specimen A is 5 X 10~ cm. The size of Specimen B is 0.00055 cm.

Which specimen is smaller? Explain.

21. Explain why each gumber is 110t written in scientific notation.
a. 41 X 10° ' B, 03X 107

22, . Arrange the numbers in increasing order.
425 X 107 4.25 X 1077 425 X 10* 5.24 X 108

Puzzle
The mass of Earth is about 6 trillion trillion kilograms. Write this number!

Standard Netation ~ Scientific Notation

Remediation Book Lesson 6.6
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Date

Name

.-Algebra Concepts > Dc\y é

Lesson 5: Ratlonal and Irratlonal Numbers ,

A rational number can be written in the form %, where a and b are
integers and b # 0. Rational numbers include integers, fractions, and
decimals that terminate-or repeat. Irrational numbers cannot be written
in the form 2. Irrational numbers include square roots of integers that
are not perfect squares and decimals that do not terminate or repeat.

" Real I'ﬁuhbers :

x Tell whether each number is rdhoual or irvational. £ itis rational,
' write it in, ¥ fﬂrm. : -

a. -:_15' g Thenumber —15 mratlonal ~15= j

b. 0454545, Themmber0454545 . is rational. 0454545 L= Ei
& xS | 7‘-_ m:mber \/_hlsm'atxonal because 141 is not aperfcct square. et
d.i@ " ‘_,-_'Ihemnnberw/_mranonal \/_—,—“7 '

e. 8L - - '_ "I‘hemunber 8—1sratxona1 B— ‘—%—5-

3

m Order the numbers —0.625, \/_ 32, 1.75 from least to greatest
' Graphthennmbersonanumberhne : L

8} ges . 175 @
~-o——to——|—o—¢—]
_.-3-2—1"0:'1 Z 3 4_
Read the numbersﬁ-omleﬂtonght

~ The numbers ordered ﬁ'om least to greatest are — 3~* —0.625, 1. 75 V9.

--;Pr'ac'tice: Fiiétfrry'i—. e o e Yo v |
Show that the numher is ratlonal by writing it m L form f E:’_K ot CZMA(J

1. 25 13 _ _ 3.J—

o

4. —4l . '& ~0.5 "-'_6.-3%

" Remediation BookLesson 65 189



Tine _ A Nﬂme : . . : '. : T ' Date
the _ = - P _ . |
, Practlce. Second Tey, . - L i =, S : (

i ' | | L 15

Tell whether the number is ratlonal or irrational. If the number is
ratmnal write |t in— form ' : “ '

1. 452 R 2. -19 e - 3. —106
4. —JTE B 6. .96 ¢ e o 6. 0.262662666 . .
2. VB L 8 V21 e o. 03
1. o M. ‘%‘ . | Loz 6%
%; . Order the numhm's from I‘east tn gmateﬁa :
*,E 13. J—,S,O-S- —0.5 -:_ fa 06"6 1 . —V36 ..

" Extend Your Skills

16. The area ofa rectangular plcturc firame is 150 stpmrc inches. Its length
measures 11 mches Is the width of the frame ratmnal or urational‘? Explam

1. Listthe cirles below in order from Teast to greatest, based on the length of
the radius of each cu:cle (Notc Tim c:mles are not drawn to scale. )

E’)i

@7 o
iind t g
2ft= o % s
B. 8‘_ st In the game board below, d:awanx in each box contammg a rational number §
“ Drawano in each box contalmnganlrranonal number. : -
Vhich _ _ é %
D15 . g | VE | -2 3
e 3
ST | SRSV, VTS -
indth V| V3. |- Viat, EX
‘ton = : T e e T e e e T _' %f
viz |oo3s | % £

A 10 _ -t : s ' g
B o W]:I_lo:u-rontl-:ne'game with three in a row, X's of,O’s?i . - i
| ol b “ @

' 1
jiation
190  Ramediation Book Lesson 6.5 .*
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Ang‘; br. '_'“-:concepts

Lesson 19 Sol\nng One-Step Equatlons

Ly by

: -step equst;ons can be solvcd usmg any of the fourbaszc oparatmns. 35 _
Use thc invem-e operaaan, or opposﬂc operation of what 13 mthc equahon. ) i e . o T

Operaiion - Inverse Operation
Addlt:on v " Subtraction
Mulﬂphcahon 'PDiVisi'un

g » - Division. | - .~ Multiplication

m-- Youoannseall fmlroperaﬁonsto solve one-step equahons o
[ i [ e
PRt TR T JRRE R LR P 1) R e
‘e 2+~2=1a +2Add. y+2-2=10%7
e <07 Chéck: 8 +2=
Ullng Mnltlpﬁcnhon B
-r=b10

a I"f::—-:a‘ m-z Multlply

et T R,

e ]

o T S

Wt e Sulu thoaquntfun. Chack yaur aolution S &
W N 1. x_-—l_-_"S ] 2 m 6==6- .3 c+3=-.7 R 8

g e T g e AR Rl T e AR
. b " PR L 4 T I riear

polinig e in Walteies v endo

T

WMEGC T8 = T RN 3R

8 p 9SS 00 S5 11 c-19 20 12. r+8-—'18.’"--,-‘-'."'--?

Eile LS

e i _ﬂl;ii_'i_nﬂi.q_éo;nl Bnnk!.elsnnﬁlﬂ 217 j__.-'
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Algebra Concepts W e
Lesson 20. Solvmg Two-Step Equatlons N

ﬁ m (4(5,}- Show werk on Se.pmm}e, % Lee-} a-F
" Use. two nperatlons to solve 2 two-step equation. To datennme whlch e
operaﬁon to undu ﬁrst, use the order of operaucns m reversc

_":':zx S¥e B S e e

2’:#14_1”74_1 Addltoeanhmde ':"-_. R
ClEimee sl

Zas:

: :f:-_SGIU'B aaehaquaﬁnn Oh your solutinn SR D E e TR ST
‘ 3y 45 2a+5 R

L.}

- Copyright © by McDougal Lt a dvsion ofHoughton Miffin Compary. .« 5 o+ Tt e

56— 7 = 11 a%-{- 12= 18
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.m smve the. equanon

Algebra Concepts

Lesson 20 Solvmg Two-Step Equatlons

ﬁ m u_g.}( R f.,aw' v\/at‘/( o n 5epzqm:lf, 5 '_ .. ot o
Use two operations to solve a two-stcp equation. To determme wh1ch ;
upsraﬂon to undo ﬁrst, use the order- of operatlons in reverse

:';".-'zg—1+n1 7+1 ‘Aﬁ;;i&,‘éﬁﬂ;qﬁe‘;f.-.,‘_I_ -
Ll _.__'._.I_.I-_'_Dmdec&chs;debyz.'f':.,j_"'. '
Sunphfy

I Subtmst 2 fmm each sule
‘ -{Mnuplyamhmds bys

Solvo onch equuﬂon.ch your‘ aolutinn _,_'_..-,‘_' H R s e N i
= ‘ 3y 4 5 2a+5-— 13 d 3%1—- 1=6 W

" Remediation Book igg_su',{-_m N 2197 £ ]



Solve eaeh equaﬁgn. CImck you.- 'Olutlon_ .n ok e 2
83 0= 6 v

‘.'cds'm $7. % L afﬁaﬁmWﬁhmdaolvnmamento H o

.
‘n

g i oy

o

(3
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Lesson 26 Solvmg Multl-Step Equatlons

Solving some equations requires several steps. Always simplify
sides of an equation first by combining like terms. Then use
inverse opcrat:ons to solve the equatmn '

BTN Solve thocqunton 7x ~ 3 +2) = 14. .
o S -3+ =14 Original equation.
" 7x —3x—6=14 - . Distributive Property

. C4xs6=14 ‘_ Combmehkctcrms :
- 4x-6+6-'l4+6 Addﬁtoeachmde

Cldr= 20 Slmphff _;'_'
N b
+°7 : Dmdecachmdcbyé.__
x=35 Slmpb.fy

sdaig-minip Buajog gz
Ld3AONCD vH839 Y 9

1
e

5

.-Solve the eguat:on 2&... 3x = ix 12 .
28 - 3x Sx = 12 i "‘Ongmal equatxon

28-3x+3x Sr=12+3x -‘-’Addsxmboﬂ;slde

R T St .'I‘ISme!Lfy
" 28 +12= 8x-—12+12'j- 'Aadlztoeachmde

408 L 'Smphfy
480_'%{ % B e '-Dmdeeachmdesbys

. Practice: First Try: . .
_Solve each equation. e _
ot SxFA=2x4T 2. 8445 =20+8

L3 Br=3(5+) o e

5. 2A6x - 2%) 3,_~f56 s (3% + 4 = 5(5% — 4)

Remediation Book Lesson62s = 231
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o~
[
L5
b
[25]
o
=3
e
s
m
ar
A5
g
FE
=
£
(3]
)

232

‘Name ____ i : : - ~ pate .

" Practice: Second Try

~ Solve Eai:h equation.

1. 4-9x+5=10 ‘ S 2 14x—8=10+5x
3. 6j+2_x=4('x+_3) N s 4. 11x+9—10x 9.
5. 8-3(5-x=14 Y 7x—_2.=8x—2. ;
7. '17x'+,a=—'21_=¥-ax_- L R -IO(x"-If2)‘—;4,(x-ll-8)'

Multtplv both sides of the equation by the LCM. Then solve.

9. 5_(x+8)+3—-18 " , S 10, s{—x+3)——10 ix

3 Multiply both sides of the equatmn by 10 Then solve Ty .
A1 13x+72 = —0.7x — 28. s 12 1.3(x + 16) = 2:6(x + 3} _

" Extend Your Slulls _

13. Barry is playing fetch with his dog. Thc dog runs at a rate of 50 feet per second.

If the ‘dog is 5 feet away from Barry when he throws. a ball, how long will 1ttake"-;"-- .

| __thedogtogettotheballlfltlands lSOfwtawayﬁomBany?Useﬂ:ecqmtmn
d= 50:+SwheredlsthcdxstancethedogwfmmBarryaﬂenseconds

14. "'You have to read 3 boaks durmgsummer vacatlon Each book has 241 pages. If .-
. you have already read 115 pages,. how many pages-do you. have to read per week -
‘if you have 4 weeks leﬂ of summer vacatlon? Explam the stcps requrrcd to solve L%

‘the problem.

| Tell whether tha equatlon haa 0, ‘l ar mﬁmtalv mam,r solutlons
A8, 3 F9 = Lpbk i i6. 2.x+7 2(x+3) IR ¥ A 4(x+5) 2(x+1n)-

Puzz'te' e el .
Fill in the blanks a.ud wotk backward td ﬁnd the ongmal cquatwn'
x = 4- S

S

4x+|:| 12-—'[|-"1.;-z:.
4x+D I:I

L s%'—_DI'&'

Remediation Book Lesson 626 i .
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Algebra Concepts IR Ee "Da;y.-[ﬁ'
Lesson 25 Pomts in the Coordmate Plane '

- You can locate points in a coordinate plane. A’ honzontal x-axis and
a vertical y-axis: intersect at the origin, dividing the plane into four
quadrants, numbered 1, II, IO, and TV, '

] T yaxis | 1
18 RRNGCER
NERERE |
~F*]10,0) ofigin o>
~5—4—3-2-10] 1. 2 34 5 x-axis e g
L1 g e e o
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To locateapomtmthccoardmnw plane useano:'dered pair. 5

The numbers in an ordered | pair (x,’y) are conrdlnates, Wlth the
x—coord.mate followed by the y—coordinate B _
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Practlce' First Trv

Use the coordinate plane ahove erte the coordmatas .
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‘ Draw a coordmate plane. Draw and Iabel aach pnlnt
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 Practice: Se’(:ond Try

Write the coordinates for each point. - 5 :
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" Extend. Your Skills

' Imagine a nclghborhood on.a coordinate gnd, thh your home atthe ongm .

,' > andthetop of the page as due north. Hint: Bcgin atthe ongm.

I.fyou travel 3 blocks west, then 5 blocks north to get fo schoo!, wh.at -

quadrant is your school in?

22; Ifyou tavel 2 blocks east, t]mn 1 blcck south to. get to your fnend’
housc, what quadrant is your fnend house in?. - .

o 23_ Ifyou travcl 2 blocks Wcst, then 4 bIocks south to get to thc store, What 1 = o

quadmnt is the storc m?

;i Puzzle

- Draw a coordinte plane Draw points as mdlcated. Thcn cennect them in = -

-order using stra1ght lmes What ﬁgure do you get?
=3, 3)to (3 O)to( 3 —3)to (0 3)t0(3 —3) to( 3 3)
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